

Multiply by 10^{-2} (H)

Find each product.

$$96 \times 10^{-2} =$$

$$91 \times 10^{-2} =$$

$$39 \times 10^{-2} =$$

$$13 \times 10^{-2} =$$

$$28 \times 10^{-2} =$$

$$55 \times 10^{-2} =$$

$$13 \times 10^{-2} =$$

$$67 \times 10^{-2} =$$

$$88 \times 10^{-2} =$$

$$97 \times 10^{-2} =$$

$$33 \times 10^{-2} =$$

$$88 \times 10^{-2} =$$

$$49 \times 10^{-2} =$$

$$27 \times 10^{-2} =$$

$$91 \times 10^{-2} =$$

$$20 \times 10^{-2} =$$

$$98 \times 10^{-2} =$$

$$46 \times 10^{-2} =$$

$$71 \times 10^{-2} =$$

$$73 \times 10^{-2} =$$